Transformations chimiques en solutions aqueuses
e Chimie Réactions acide-base et de précipitation

-»* PCX3

Révisions : Réactions acide-base

A _ CALCuLS T NONTDIRVARLES.

@ Gl as PH du~ gelle. A p;’mm & A40™3 (T,

Esk> thodal® : KY (ipeelabe)
ko~ 2 Hio.

RP  Hol « GGyl = Moty eoll]

@ Gl 4 pt dve b dacide fort
B ke [@yccoof] W Heo.
szh{&rb =y (O, 0" 4 H0F

2P How) ¢ chffay) = Hyot(op) +Hwo U]

WO~ 4 [Ho

« [Wd=rho] «

ph = —lﬁa[ﬁéo): ,La[% = EH.—?c:Lo

\N}ﬂw — pH w"d«-vJ/p« A wlihow acids .
— ahpily, rdplgett. & e pH.

(3D (Lhee Jacds [mla

Cpiu o~odluls - Hoo o HCOK.

[N -
A . i
- 2 Kol ¢ Huot) - Mgl # RS Gy
ho 'Z'L. l — © o
Ho™ '—5" C-2 — o x.
i [Mg 5 HoP*

W ,bf““a’)',d’w - o° PP a (K i)
Riache- aaéww = pomek docide & Lo coposle
,eeT:M—-. J“’“’f'
/f .2’[7-«“» M}‘—‘, U= S~

K==
C-«Je

ULt —» ’ avoucee. 9e 44 C

(R ‘L
Hoz 2 _ = _h_ q(‘yé- G ¢
C_c_o C OO

cc®

T

dor e ) = L fpaspd) e pos (i



Nobdalts, — _ pH adds ok ave A componds Ao aulion. (adod sone agprorinakivs molh.

— f’Pa\lfn HWM"M\ 'Iaw- s 9"1 .:% = .- =3 '7!.:'},.'3‘/1'0"(‘ M.L-q:u
C-v)c° o~
aoret malh Aprrark s € = he K (97 240070
w
L6 Dineval - oveucdle = opH: 42§
Aot 2o fom? = [HwoD <« CHaorT)
" = Héptﬁ—/l.:.z,s,
14.(0"3 P l/ 0[ m l . #( ‘
— gl Afliclt S o pl . ouks polelye Aigfneotls.
(1) Ssthon A booe failde 6 pH dune sobihi daghdyfh-
Tdom .. & Gl « Holt) = Bndflag) ¢ kolag) R 2HOTky) = WSOk « SO () WOz oz, - 0™
an
KP: = —3,7. . -
% ({D Lz A &w {A/Ilﬁt. fo4 E%D" X Cﬁ'ﬂ‘\ /:4'?. %-Q‘"’RP.
RowW Ue :_.7'1 =D L‘-;’é =ll Ew CMQ)-D
— T e mp e et co R e oaglar = ph=d ey 1, )= 3.
pot = A (pe —pin +pc)
Valtdah, adpralolye acqtyalle
pH: M,-POH = %(PQ.;-% -p(,J —

AM Mfoa‘ab\ dwot e prterate
Cj)'u)ﬂ&.ar,;. ( EKGOJ':D = EIOJ"—.) P UR-z.S(bj‘

P‘“ZF‘M; 1 'J'PH>7%\4+4'

ph= 404 (2= ulom4ncl L)
N alidale, — pH adds  cobdiid ane Ao corporde A tullion.
e
@ﬁ Py ﬂ,It:,.wvlf A
se 2zeC ? Dioval P" ovoacde )
hM-‘* = (B} > CErmgi)
A r~ox volalhe.. = W- ML

M\‘D!.ul.-




(d

O L. g Hycaou(eg) + Koep) = fytoas i) « it 2. TANDICATELR  CDLorRE

+ [FoT] 4@ 2P {AWM-uA = L,:t.‘ conme s
Hyecos™ P («*>4) :;Z_ m.",m
pr | [Herat] e
kb *bm" ol i
£7 - = /I,ommca,. 08 -
w4 R/
Ho™ 7a{tad Hyccoole] + Hgeos o = o N K ,
“ [T o [oCK ] ot Hocaoomlag) + Hycos ey Qoo a5~ d0 w0 5% B0 w8
K + —
. o0 MM«&!&‘#‘: b concodrel. @ 4ol }I-C(;\.\.J/m’l Tad™ 3PH
plor
He o+ Log Chiggom) Los[A) - & ple
P ﬁ‘“* atncaou:) s 5(‘31') A -4 f‘i
gp r”& >S A A Pl & A3
“w a 2 . ‘Ia(_u&,_ L A~ VI
pﬂ’w&ﬂapm o gt n d fads plo fad [ e

//-% THDW) =G

¢ |l [ Lot Us® | IO I e
Moz |y 19 |t e | 6o o pH= "%, 2 lvf-cvs el
z

A% | W% | A2Z | B2 | 202 | %% e e Beer _ [pcload -
H =
ap(m:‘ A_IO ‘Z,O 2{0 (.0 Co 6,0 & o .Qﬁl\?vaf donds ?‘”‘&p\?’\/
/4 A = (£, T30 + €4, (M) Tkmd) 2
p=pc n il s ABL ok G T (s

et = A S mAM Jmmﬂmw»—
Jabihor(' A—h
Pw&moue’ 2 _gngel. .



'4}>K=4 (A) - £WUJJ £ G. )?’4#&%?\”&71'

Ao () = £5,.0) 26
""fi" O.\A;J:,LLWKW-&%L
dane APK:A_(AEB = APH;'ﬂ((LJ

dore € Hod @A) = s&l' ((kc.J

(jt\ .‘ac,us Al
T
' Iébﬂ‘/\," erwa?«.
Apﬂ:? (A3 = (g W((\l) T + é_'u_a ) CNJB e
- Cmad)L (THEL « T247)

= Epu W) R G L que w0k L. ph
All) = A 3 = A ol®] 5 150 L

@ oo o idlin dnaide 4 4 o bane carne
Pz flo & dog (L2
D\‘M ¢r‘BW A b do corncheher, pae. oy
T Gbiefonc L -
Plogon - v o cone Bongrar o b fH galiongs.
Ay ;(gmmrm3+ £, [A) t=a7)e

@nman- 9~ Lagien aida Aol guron poo L GBL
2 bloam, o dokpdoands &b Qeopied parip-.

a

A[éwz\m) = Z.M(é%""‘) Toa] 0.
= Epylbwe) (G- Cadd) L.

Alblon) = E ool Cpy (b10n-)L CHand])

APH: A3 e ZDM‘J
= THouJ: Apeg ] —Af6wm)
£ pylolo~) L.
o THN]) - Aph-_agﬂ»bm) —Al610)
UTa) A (Blor).

AO“L Il H f“‘k + lﬁ A./Gmms )
p 0 ;
Apoifbloon) Aty

){/m MJLFL? A pH 5,92

Traud ApH:J b A
( HAW-A) s annesbrmdok B denmmiral.

R Lo pllos 3| 77 07 22 fodw
Pornargs :  _ Lo andite Pwa‘ﬂ' el impefoidioanl
aAa(St{ Owse (aa-:Ja‘ @pc'd/hmlawfpo?‘ L~
por (e Lo pake A =63 & 82 (stdws
e aldaloin | 2o PaVJS Q?)-—mmﬁﬂ m\oo/vaSj
_ B sk, Lo don abin & gk
hop peochs Ao valows g ok doge 4
Anpacthen (=63 o pH=32) , L
rwodBe AV lofon  rviorse and,.’_

O otk alos PL{Q_?,Z




% _ Pouvoie. TATIFON . e - = ﬁ}z'@@) G -Gy

G+Gy .
L
A b o b, Lo 2P 4 <7 L (@ &« & ko oadmbe-TbL 5 M 4 AT
CHyooH () + Chotos™ ] = CysoH () + Chocos™ sl 5 o o da popt Ao A, don.
o Aol + A"(ﬁ\ > Mg\ + A by 4 Con = 2 Go. = z- A z.(A-2) ‘o
M\ﬁo"//\\d&{ diow b&nQdJA onbeina. A G~ Q"’C)Cﬁ e+ (-2
b Qopo avds av prfd b Depin back | =z W) 2406
sclon Atlaq « Ro“[cf\ = A7) + Holl) W% Mo ="
Ke . @;4 < “1/2
T A G — e, e Broe 42 = A (4-20)6 st oz
eF GH"% dl-n G +x . . \°@ d >
(/, a‘ﬂ@k Jionil! —s a‘aJ{/ .«é«m‘%‘— sczdC. - |z Ar rocimall =2 x=of |
AGn = - dC
AQ} = -J-AC
® phos = flas ﬂ"? Q—%—
- +4C
PH{wl-W“»“‘Q”ac%{jg
- Ca+4C | G\ - Doy [GadC —dc
Aph = %(Gm——di C&) 5(%’)" %“{PT @ ft oz or aba ph=fion
. . . G 91, o~ c l,| ! L
Ls . _ i\ _ _dc zo\Md&W&lfwiW‘ Al e
o g, D”(“a‘) bla-g7) Ao 6 (o asin & ot iy ool
hC <& Gy oy CIQAX»MM A+ [1-L) o cos) /2 o g gl
DL adn 4 Ch G

A Jo dpit = ac (CAA_%H,)



